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For each question, choose the most suitable answer. (56 marks)

Which one of the animals shown below is NOT an insect?

v A)

B)
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Question 2 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

m

Maotal i used to make the blade of the knife because metal .

The diagrarm shows a knifa,

A) can reflect light
v B) does not break easily
C) can bend without breaking

D) does not allow light to pass through

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 9th Jul 2021

Last Modified: N/A

QID#: 28,369,605

Question 3 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which one of the following is the function of a leaf on a plant?

v" A) makes food
B) takes in water
C) holds plant upright

D) takes in mineral salts

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 9th Jul 2021

Last Modified: N/A

QID#: 28,369,785

Question 4 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

In which part of the digestive system is food absorbed into the blood?
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A) mouth
B) stomach

¥ C) small intestine

D) large intestine

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 9th Jul 2021

Last Modified: N/A

QID#: 28,369,802
Question 5 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Jonathan made the following observations on the life cycle of an animal.

» There are four stages in the life cycle.
» The young does not look like the adult.

Which animal was Jonathan observing?

A) dog
B) chicken
v C) butterfly

D) cockroach

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 9th Jul 2021

Last Modified: N/A

QID#: 28,369,812
Qu estion 6 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

The disgram below shows the growth of a young plant with two missing stages K
and ¥

4 L
Wiich one of fhe foliowing shows ihe correct stages for X and Y7

A)
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Question 7

Study the diagram below.
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Primary 4 Science » Primary 4 Science (Term 4)

LB/

A) Both objects have the same size.
v B) Both objects have the same mass.
C) Both objects have the same shape.

D) Both objects have the same volume.

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Sat 10th Jul 2021
Last Modified: N/A

QID#: 28,382,315

Question 8

Look at the ploture bedow,

Which of the following statements is trus?

€ ==

e—— p——

Dirsction
o light

A)
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Primary 4 Science » Primary 4 Science (Term 4)

Which one of tha followang explains why Sua can ses the book on the tabla?
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Question Type: Multiple Choice
Randomize Answers: No

Date Added: Sat 10th Jul 2021
Last Modified: N/A

QID#: 28,382,327

Question 9 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
Which one of the following is the best conductor of heat?
A) A paper cup
v' B) A metal cup
C) A plastic cup
D) A wooden cup
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 10th Jul 2021
Last Modified: N/A
QID#: 28,382,330
Question 10 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

In which one of the following will the two magnets push each other away?

A)

N s | | N S

v B)
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D)

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 10th Jul 2021

Last Modified: N/A

QID#: 28,382,344
Question 11 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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hary ssl up &n expanment as shown below. The (casted bread was allowad fo
cool down before i was placed Into the plastic bag.

Bet-up & Sat-up B
plastic bag plastic bag

plasad in the cupboard plnond neer the window

Sot-up C Set-up D
e tomsted bread
‘_J plastle bag o plaslic bag
L — L
iplaced in e freezer placad naar tha wincow

o wihich sst-up would mould mast ikely grow first on the bread?

A) A
v B) B

C) C

D) D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 10th Jul 2021

Last Modified: N/A

QID#: 28,382,351

Question 12 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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v B)
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D)

v A)
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Study the flow chart below about Animals X, Y and Z carefully.

What could Animal X, Y and Z be?

|ﬂrganisms|

Does it have
six legs?

Animal X

Animmal ¥

Animal £

Animal X

Animal Y

Animal Z

mammal

insect

bird

Animal X

Animal Y

Animal Z

insect

bird

mammal

Animal X

Animal Y

Animal Z

insect

mammal

bird

Animal X

Animal Y

Animal Z

bird

mammal

insect

Question Type:
Randomize Answers: No
Date Added:
Last Modified:
QID#:

Multiple Choice

Sat 10th Jul 2021

N/A

28,382,372

Question 13

Which of the following incorrectly matches the organ to the system?

System

Organ

skeletal

large intestine

Primary 4 Science » Primary 4 Science (Term 4)
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B) System Organ

respiratory | windpipe

C) System |Organ

circulatory | heart

D) System |Organ

digestive | stomach

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 10th Jul 2021

Last Modified: N/A

QID#: 28,382,389
Qu estion 14 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Study the human body system below.

Which twe parts of the human body system do not produce digestive juices?

A) RandT
B) PandQ
C) RandS

v' D) QandS

Question Type: Multiple Choice
Randomize Answers: No
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Date Added: Sat 10th Jul 2021

Last Modified: N/A

QID#: 28,382,393
Question 15 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Robert wanted b conduc] an experimant to find out § tha member of leaves affects
tha amount of water takan in by the planl.

sUpport
fo hodd
the plant

Set-up B Sat-up G Set-up O

Each 2ai-up had the same amount of water at the start of the experimeant,

Which of the two set-ups above should e chooss bo conduct a fair best?

A) AandB

B) BandC

v C) AandC

D) BandD

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 10th Jul 2021

Last Modified: N/A

QID#: 28,382,406
Question 16 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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The graph balbow shows how kong each stage in the fe cycle of Insact X and
Il ¥ lasls,

Bl Ins=ct X
C ] insectY

Egg

v A) Insect X

Insect Y

Larva

Pupa

B) |Insect X

Insect Y

Pupa

Larva

C) |insect X

Insect Y

Larva

Larva

D) Insect X

Insect Y

Pupa

Pupa

Date Added:
Last Modified:
QID#:

Question Type:
Randomize Answers:

Question 17

Multiple Choice
No

Sat 10th Jul 2021
N/A

28,382,423

Larva

Pupa

= Stage

Based on the graph above, at which stage will Insect X and Insact Y ba on the
15% day after the eggs are laid?

Primary 4 Science » Primary 4 Science (Term 4)
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Devi placed four similar seeds under the following condifions as shown below. A
tick {¥) represents the presence of the condition.

Conditlon .
Set-up Alr I Light Water Temperature
{*C)
P v a0
o y ¥ [ %0
=] y 3 3
5 | 3

A)
v B)
C)
D)

Im whick s&t-up will the seed gesminate first?

Question Type:

Multiple Choice

Randomize Answers: No

Date Added: Sat 10th Jul 2021
Last Modified: N/A

QID#: 28,382,429

Question 18

Primary 4 Science » Primary 4 Science (Term 4)

Kok Wi has bea idanbcal syringes, X and Y, each filfed with a different matier 25
shown In he diagram bafow,

Tra distance, A, for each syings before he pushod the plunger was & om. Ha then
pushesd in sach plunger as hard as he could and messured distanca A again.

air

—

syringa ¥

o

Which af the following could likely be the measurements of A after the plungers

were plshed in?

A)

B)

v C)

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit

Syringe X

Syringe Y

4 cm

4 cm

Syringe X

Syringe Y

4 cm

6 cm

Syringe X

Syringe Y

6 cm

4 cm

2 pts

15/51


http://drive.google.com/uc?export=view&id=1ukhvyOLZFYsNm0-rUPdpeYj7ANWMB6E0
https://www.classmarker.com/a/tests/qb/manage/?test_id=1779140&question_id=28382429
https://www.classmarker.com/a/tests/qb/manage/?test_id=1779140&question_id=28382429&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1779140
http://drive.google.com/uc?export=view&id=1Q5m3MO2kQxIVK4GwVU7WQ-u6gnRIpXip

8/6/2021 ClassMarker - Manage Test

D) Syringe X | Syringe Y

6 cm 6 cm
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Sat 10th Jul 2021
Last Modified: N/A
QID#: 28,382,462
Question 19 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Alex camied out an experiment as shown befow. After he owarad the metal Dedl
garafully inta the containar shown in Dlagram 1, some water fiowed oul. The water

was collectad i the measurng cylinder as shown In Diagram 2,

Diageram 1

The raatit of the sxparimant shows thaf the :

A) water has mass
B) metal ball has mass
¥ C) metal ball has a definite volume

D) metal ball has a definite shape

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Sat 10th Jul 2021

Last Modified: N/A

QID#: 28,382,467
Question 20 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Ar ios cubse has been left on a table as shown balow,

lee oL

imbla =

Which of the follvwing cormectly shonwa tha change in the hca cube in the mext 10
milnutes?

A) Change in state of matter of the ice cube | Heat gain by the ice cube

No Yes

B) Change in state of matter of the ice cube | Heat gain by the ice cube

No No

C) Change in state of matter of the ice cube | Heat gain by the ice cube

Yes No
v D) Change in state of matter of the ice cube | Heat gain by the ice cube
Yes Yes
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 10th Jul 2021
Last Modified: N/A
QID#: 28,382,496
Qu estion 21 Primary 4 Science » Primary 4 Science (Term 4)

When tha light from the torch shines an the cardboard box, & shadow is cast on
iy ST,

Fa
,

torch cordbosrd hox

To maka the shadow bigger, you should move the

v" A) cardboard box nearer to the torch
B) screen nearer to the cardboard box
C) cardboard box further away from the torch

D) torch further away from the cardboard box

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 10th Jul 2021

Last Modified: N/A

QID#: 28,382,504

Question 22 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Studty the following sat-ups

beakar P — [ ] [ beaker O
g |
400 of water —m
gt 30 = = = 1T0mi of water
— —= at 30°C

Wiich of the stalaments aboul the two beakers of water is trua®

v" A) The water in beaker Q would boil first.
B) The water in both beakers would boil at the same time.
C) The water in beaker P had a higher temperature when it boils.

D) The water in both beakers have different temperature when they boil.

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Sat 10th Jul 2021

Last Modified: N/A

QID#: 28,382,513

Question 23 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Kurmar coated the sama amound of wax on the ende of thrae rods made of three
differant materials, X, ¥ and Z. Ha conducted fve experiment as shown in the

diagram.
S
wa {r
 glass cover
=1 =
N
L]
E el =4— vailing waser
] °Uello
0400
UD oog

bunsem
burmee

Ha recorded the fime takan for the wax to melt complately in the table balow.

Material Time taken for wax to malt completely (min) |

= = - : |
Y 18
ra 2

Based on the results above, which of the statements is true?

A) Material Y is the best conductor of heat.
v' B) Material Z conducts heat better than Material X.

C) Material Z is the poorest conductor of heat.

D) Material X is a poorer conductor of heat than Material Y.

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Sat 10th Jul 2021
Last Modified: N/A
QID#: 28,382,526
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A drop of ink was placad in the middie of a glass tube connecting fiask A and flask
B #s shown in the diagram below, Both flasks contained the same amount of

waler,
drop of ink

—
miearrient of ink

flask A flask B

Marews noticed that tha drop of ink moved towands flesk A after somd Bma.

Based on s obsarvation, which af the follewing shows the possible temperabune
of the watar in flask A and B7

A | A | B

10°C | 10°C

B) | A| B

90°C |90°C

C) | A| B

90°C | 10°C

v’ D) A B

10°C | 90°C

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Sat 10th Jul 2021
Last Modified: N/A

QID#: 28,382,539
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= oflc | i

Sammi sat up an experment in 8 dask room as shown below, She placed matarial
W at tha opening of the wooden bax.

woadan box

1

Eght sensor

She recorded the amount of light that passed thiough matenal W using a light
sansor piaced In the box. She repeated fhe experiment using materdals X, Y and Z.
The tabda Balow shows the resulis,

"Material | Material | Material | Material |

Ly X Y

Amount of light datectsd 400 1100 150
by the light sensor tunitg] |

&00

A)
B)
v C)

D)

v A)

bo

Material W
Material X
Material Y

Material Z

Question Type:
Randomize Answers:
Date Added:
Last Modified:
QID#:

Question 26

Muiltiple Choice
No

Sat 10th Jul 2021
N/A

28,382,549

Which mabterial should Sammi chooss o maka curains that will rediece B most
amow of light entering her room during the day?

Primary 4 Science » Primary 4 Science (Term 4)

Tha experirment shown balow was carried out in & dark oom. Shest P, O, R and 5
ware arranged in & straight lina, An object was placed in front of sheet P,

il
i
toroh w
L4

P Q R

L

Whan the torch was switched on, & shadow of iha objact wes Bormed mal'_tht
arty. Which of tha following correctly describes the properties of the materials of

shesl P, 0, A and 57

through

Allows most light to pass Does not allow light to pass

through

Not possible to
tell

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit
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B)

C)

D)

|PandQ

ClassMarker - Manage Test

S

Allows most light to pass

through

Does not allow light to pass
through

Not possible to
tell

P

Qand R

S

Allows most light to pass

through

Does not allow light to pass
through

Not possible to
tell

P

Q

Rand S

Allows most light to pass

Does not allow light to pass

Not possible to

through through tell
P and Q S R
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 10th Jul 2021
Last Modified: N/A
QID#: 28,382,580

Question 27

Randy wsed (he sat-up below o find out i1 the number of batheres affects the

51]'Eng|:|‘1 of an electromagnat.

A)

baltery

o
3
L}

LI T3 deskemone

Which oie of the following graphs would show the conrect result of the expaeriment?

Primary 4 Science » Primary 4 Science (Term 4)
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FY
£
7]
=
‘iE“ o —
i
o
©
=
R
0
E = -d
number of batteries
B)
=
Ch
5 |
2
&R
&
s i |
QD
< |
()]
©
=
" — =
number of batteries
C)
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magnetic strength
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v D)

magnetic strength

number of batteries

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 28

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit

number of batteries

Multiple Choice
No

Sat 10th Jul 2021
N/A

28,382,617

b

P

Primary 4 Science » Primary 4 Science (Term 4)

2 pts

24/51


https://www.classmarker.com/a/tests/qb/manage/?test_id=1779140&question_id=28382617
https://www.classmarker.com/a/tests/qb/manage/?test_id=1779140&question_id=28382617&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1779140

8/6/2021

A)

B)

C)

v D)

Question Type:
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Joat wanted {o find out the strength of four differant magnets, Q, R, S and T, using
an iran nall,
He maved the iron nail slowly towards Magnet 0 unb? the nail was just atiractad by
the magnet. He than observed the distance between the nail and the magnet. He
rapeated this with tha sthas thres magnets, The results are shown in the diagrem

below.
iron nail
distance
MagnetQ [N i‘“"ﬁi
dislance
MagnsA R [N 5 F b ]
: distancs
Magreet 5 M 5_ #——\
Magnet T |M 5 P. r—

Rased on the results shown above, which of the following is eorrect?

Strongest magnet

Weakest magnet

R

S

Strongest magnet

Weakest magnet

R

T

Strongest magnet

Weakest magnet

S

Q

Strongest magnet

Weakest magnet

S

R

Question 29

Multiple Choice

Randomize Answers: No

Date Added: Sat 10th Jul 2021
Last Modified: N/A

QID#: 28,382,631

Group | Characteristics

i)

Body covered with hair

Primary 4 Science » Primary 4 Science (Term 4)

Fill in the blanks in the table with the names of board groups of living things.
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‘ i) | Dry skin with scales

Accepted answers:
¥" Mammal, Reptile
¥" Mammal and reptile
¥ mammal/reptile
v mammal / reptile
¥ mammal reptile
v' Mammal,reptile

v' Mammal , reptile

Question Type: Free Text

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,387,516

Correctly answered feedback

Group |Characteristics

Mammal | Body covered with hair

Reptile |Dry skin with scales

Incorrectly answered feedback

Group |Characteristics

Mammal | Body covered with hair

Reptile [Dry skin with scales

Qu estion 30 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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The diagram shows a plant.

Name plant part X.
Accepted answers:
v Leaf
Question Type: Free Text
Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,387,522

Correctly answered feedback
X: Leaf

Incorrectly answered feedback
X: Leaf

Question 31 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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The diagram shows a plant.

One substance that the roots of plant take in from the soil is

Accepted answers:

v’ Water

Question Type: Free Text

Date Added: Sun 11th Jul 2021

Last Modified: N/A

QID#: 28,387,527

Qu estion 32 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

The diagram below shows the siapes in the life cycie of & grasshoppar.

adull

Name stage Q.

Accepted answers:

v Nymph
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Question Type: Free Text
Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,387,529
Question 33 Primary 4 Science » Primary 4 Science (Term 4)

The diagram below shows the stages in the life cydie of & grasshoppar.

L
adull
i
e
Q 219
State one other animal that has a similar life cycle as a grasshopper.
Accepted answers:
¥" Cockroach

Question Type: Free Text

Date Added: Sun 11th Jul 2021

Last Modified: N/A

QID#: 28,387,531

Question 34 Primary 4 Science » Primary 4 Science (Term 4)

The diagram shows a beaker of water.

Points: +1 =0

Fill in the blanks using the correct words from the list.

Clue Match
When heat is removed from the water, its Decreases
temperature

Points: +1 =0

The beaker of water is put in the freezer. Solid

After some time, the water will change its
state to become

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit
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Incorrect match option Gas
Incorrect match option Remains unchaged
Incorrect match option Increases

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Sun 11th Jul 2021

Last Modified: N/A

QID#: 28,387,540

Question 35 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Alice placed two ring magnats, A and B, through a holder as shown below.

hobder
magnet A
magnet B
I ]
The holder was made of wood and did not attract the magnets.
Wood is a material.
Accepted answers:
¥’ non-magnetic
¥’ Non - magnetic
Question Type: Free Text
Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,387,545
Question 36 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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Alice placed two ring magneats, A and B, through a holder as shown belaw.
holder
magnet A

magnel B

Why was magnet A floating above magnet B?

Magnet B was magnet A.

Accepted answers:

¥ repelling

Question Type: Free Text

Date Added: Sun 11th Jul 2021
Last Modified: N/A

QID#: 28,387,548

Question 37 Primary 4 Science » Primary 4 Science (Term 4)

Study the fiow charl below.

Arimals

Based on the flow chart, state a difference between animals R and S. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay
Date Added: Sun 11th Jul 2021
Last Modified: N/A
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QID#: 28,387,558

Correctly answered feedback
Animal R breathe by gills while Animal S does not breathe by gills.

Incorrectly answered feedback
Animal R breathe by gills while Animal S does not breathe by gills.

Question 38 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Stucly the fiow charl below.

Armals

Classify these organisms according to the flow chart. Fill in the blanks with the letters P, Q, R or S.

Clue Match
Goldfish R
Points: +1 =0

Dog P
Points: +1 =0

Incorrect match option Q
Incorrect match option S

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Sun 11th Jul 2021

Last Modified: N/A

QID#: 28,387,566
Qu estion 39 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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Gopal camed cul an axparnment aa shown Dalow.

Ik with iid
no with
holes halas
; food
irmsec o
molsl cotton
wonl

container X

Which insect in container X or Y will likely to die first?

Accepted answers:
¥’ Container X

v X

container Y

Question Type: Free Text

Date Added: Sun 11th Jul 2021
Last Modified: N/A

QID#: 28,387,575

Question 40

Gopal camed cul an axparnmeant aa shown Dalow.

Give a reason for the answer in the previous question. (1 mark)
to attempt after the test has been completed.

designed in such a way that it requires manual assistance.

ClassMarker - Manage Test

fond
moist cation
wnol

Primary 4 Science » Primary 4 Science (Term 4)

Ik with lid
o with

holes halas
i food
i st fod

molsl cotton moist cation

wonl wiol

container X containar Y

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A

QID#: 28,387,586
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Correctly answered feedback
Because a living thing need air to survive, but there is not enough air in container X.

Incorrectly answered feedback
Because a living thing need air to survive, but there is not enough air in container X.

Question 41 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Luke placed different types of plants In thees kentical ssaled containers of waber,
P, O and R. One of the plants was mads of plastic.

The threa set-ups wars left near tha window for hes days. The table below shows
the amount of waler afl in aach set-up at the start and end of the expearimant.

| Amount of water left in the container (mi)
Sat-up Diay 1 Day 3
P 30 15
e 30 30
R 30 20

Which one of the set-ups, P, Q or R, contained the plant made of plastic?

Accepted answers:
v Q
v set-up Q

v Set-up Q

Question Type: Free Text

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,387,723
Question 42 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Luke placed different types of plants in thres dentical ssaled containers of water,
P, O and R. One of the plants was mads of plastic.

The three set-ups wars left near tha window for thees days. The table below shows
thie amount of waler [&fl in each set-up at the start and and of the expadmant

| Amopunt of water laft in the container (mi)
Sat-up Day 1 Day 3
P 30 15
= 0 30 30
3 30 z0

Give a reason for your answer in the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,387,732

Correctly answered feedback

Plant in set-up Q did not absorb any water and plants need water to survive.

Incorrectly answered feedback

Plant in set-up Q did not absorb any water and plants need water to survive.

Question 43 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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Luke placed different types of plants In thres kentical sealed containers of waber,
P. Q and R. One of the plants was mada of plastic.

The three set-ups wars left near tha window for thees days. The table below shows
the amount of waler lefl in each set-up at the start and end of the experment.

| Amopunt of water laft in the container (mi)
Sat-up Day 1 Day 3
P 30 15
= G 30 30
3 30 z0

Luke repeated the experiment using the plant in s2t-up P bul ha wrapped the
roois of tha plant with a plastic bag as shown below,

Sesled

At the end of the experiment, would the amount of water left in sst-up P be
fess than 15ml, remain the same at 15mi or greater than 15mi7

Put a fick () in the coerect bax, (1m)

" less than 15ml remain the same at greater than 13ml
T1amil

A) Less than 15ml
v' B) Remain the same at 15ml

C) Greater than 15ml
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 44

Multiple Choice
No

Sun 11th Jul 2021
N/A

28,387,745
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Primary 4 Science » Primary 4 Science (Term 4)

Dekang conducisd an experiment to find out how the mass of the seed leaf
changes &s the seed gemminates inte a seedling. He plotied the graphs as shown
below,

blass ()
4

ﬂ e e — T 1
i i 4 & 12 Days
Masa (g]
i
3 _--h‘-l-_.____=__
2 _-‘-‘-‘-"l-u-____l__-_
1
L] . ]
EII 2 4 g a 1] 12 Days

After a seed germinates, which part of the seeding will grow out of the seed first?

Accepted answers:
¥ The roots

v roots

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Sun 11th Jul 2021
N/A

28,387,757

Question 45

Primary 4 Science » Primary 4 Science (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit

1 pt

1 pt
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8/6/2021
Dekang conducisd an exparimeant to find out how the mass of the sead leaf
changes a8 the ssed genmiraies into a seedling. He plotied the graphs as shown
below,
blass (g)
4
'2 '-":-‘-’_,-"'J____.I".i
1
Q A S —— v T J
Q Z 4 & L] g L] 12 Ooys
Mass (g}
4
3 -!-_“;'-‘__‘_‘_-l__
2 _-E-‘-""—____l_‘-‘-
: B
b +— , T x ' 3 .
] 2 4 & a g 1] 12 Days
Which graph A or B, correctly shows the mass of the seed leaf as the seed germinates into a
seedling?
Accepted answers:
v B
v’ Graph B

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Sun 11th Jul 2021
N/A

28,387,766

Question 46

Primary 4 Science » Primary 4 Science (Term 4)
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0 pts

38/51


http://drive.google.com/uc?export=view&id=1ZuodeJWyR2aBptIQCKjHKN3-Dtgbe4Tp
https://www.classmarker.com/a/tests/qb/manage/?test_id=1779140&question_id=28387766
https://www.classmarker.com/a/tests/qb/manage/?test_id=1779140&question_id=28387766&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1779140

8/6/2021 ClassMarker - Manage Test

Dekang conducisd an exparimeant to find out how the mass of the sead leaf
changes as the sead genminates into a seedling. He plotied the graphs as shown
belms,

blass (@)
4

. =l

Q A S —— v T J

0 2 4 6 8 10 12 Days
Masa (g
i

4 — B
] 4 ] a 10 12 Days

Explain your answer in the previous question. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A

QID#: 28,387,771

Correctly answered feedback

Because when the plants is at its seed stage, it will feed on the leaf, therefore the mass of the seed
leaf decreases.

Incorrectly answered feedback

Because when the plants is at its seed stage, it will feed on the leaf, therefore the mass of the seed
leaf decreases.

Question 47

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit

Primary 4 Science » Primary 4 Science (Term 4)

2 pts
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Vinesh had a bollle containing substances X and Y. She observed the following
whan tha bottle was placed in fwo differsnd posillons,

X substanca substance X
S =
on a vertical position on & horizontal poaition

What is the state of matter for substance X and substance Y?

Clue Match
Liquid Substance X
Points: +1 =0

Solid Substance Y
Points: +1 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Sun 11th Jul 2021

Last Modified: N/A

QID#: 28,388,606
Question 48 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Vinesh had a bolile containing substances X and Y. She obsarved the following
whan tha bottle was placed in twa differsn positions.

% substance substance X
substance
on a vertical position on & horizontal position

Based on the experiment, what is the property of substance X? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,613

Correctly answered feedback
Substance X does not have a definite shape.

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit 40/51
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Incorrectly answered feedback
Substance X does not have a definite shape.

Question 49 Primary 4 Science » Primary 4 Science (Term 4)

Winesh wantad to compara the mass of 3 objecis, A, B and C, She placed them
on & balance beam as shown in the dagram below.

] o] £ 3]

i \

Which object A, B or C has the largest mass?

Accepted answers:
v c

v object C

Question Type: Free Text

Date Added: Sun 11th Jul 2021
Last Modified: N/A

QID#: 28,388,619

Question 50 Primary 4 Science » Primary 4 Science (Term 4)

Winesh wanted to compara the mass of 3 objects, A, B and C, She placed them
on & balance beam as shown in the dagram below.

] 6] £ B

i \

Which object A, B or C has the largest volume?

Accepted answers:
v A

v object A

Question Type: Free Text

Date Added: Sun 11th Jul 2021
Last Modified: N/A

QID#: 28,388,624
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Question 51 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Jarmal wantsd ko find out how diferent types of liguid affect the amount of light thet
passea through the liquid. He shone light through three simiiar dear giass beakers.
The baakers contaln different types of liquid, A, B and C. as shown below,

FAIRY [
A c
R T VA
dark shadow

Based on the diagram, why did Jamal put a piece of white paper under each beaker? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,633

Correctly answered feedback
So that she can see the shadow of the liquid.

Incorrectly answered feedback

So that she can see the shadow of the liquid.

Question 52 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Jarmal wantaed ko find out how diferent types of liguid affect the amotnt of light thet
passea through the liquid, He shone light through three similar clear giass beakers.
The baakers contain different types of liguid, A, B and &, as shown below,

FAIRY Ihh

For the experiment to work, give a reason why the glass beakers cannot be replaced with wooden
containers. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit 42/51
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to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,642

Correctly answered feedback

Because wooden containers are opaque and opaque material does not allow any light to pass
through.

Incorrectly answered feedback
Because wooden containers are opaque and opaque material does not allow any light to pass
through.

Question 53 Primary 4 Science » Primary 4 Science (Term 4)

Jamal wantsd ko find cut how difersnt types of liquid affect the amount of light thet
paszes through the liquid. He shone light through three simiar dear gléss beakers.
The baakers contain different types of liquid, A, B and C, as shown below,

IV A5Y

dark shadow

From the diagram, what can be concluded about liquid C? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,649

Correctly answered feedback
Liquid C does not allow any light to pass through.

Incorrectly answered feedback
Liquid C does not allow any light to pass through.

https://www.classmarker.com/a/tests/test/?test_id=1779140&trk=edittest_inrow_edit
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Question 54 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Jamal wantsd to find out how diferent types of liguid affiect the amount of light thet
passes through the liquid. He shone light through three simiar dear glass beakers.
The baakers contain different types of liguid, A, B and &, as shown below,

IV [Ey

A B
wihiie
VA Uy N
light shadow dark shadow

Choose the correct answer for each variable that Jamal kept the same to conduct a fair test.

Clue Match

Brightness of the torch Kept the same
Points: +0.5 =0

Distance of the torch from the beakers Kept the same
Points: +0.5 =0

Types of liquid Not Kept the same
Points: +0.5 =0

Amount of liquid used Kept the same
Points: +0.5 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,662
Qu estion 55 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Sharifah made some mik for har baby, However, the milk was too hot and she
decided to put the mik boifle into a basin of cold water.

£

hot milk
mille bettle —— — basin

-1 cold water

What will happen to the temperature of the milk after two minutes? Explain why? (2 marks)
This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay
Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,676

Correctly answered feedback
The temperature of the milk will decrease. Because the milk will lose heat to the cold water.

Incorrectly answered feedback
The temperature of the milk will decrease. Because the milk will lose heat to the cold water.

Primary 4 Science » Primary 4 Science (Term 4)

Question 56

Sharifah made some mik for har baby, Howover, the milk was oo hot and she
decided to put tha milk botte into a basin of cold water.

s
hat milk
milk hottle / — basin
—
_ e
S '1'- g | =— | coidwater

What does this experiment tell us about the direction of heat flow? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A

QID#: 28,388,685

Correctly answered feedback
Heat flow from a hotter region to a colder region.

Incorrectly answered feedback
Heat flow from a hotter region to a colder region.

Primary 4 Science » Primary 4 Science (Term 4)

Question 57
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Sharifah made some mik for har baby, Howover, the milk was oo hol and she

decided to put the milk botte into a basin of cold water.

£}

milk hottle

hot millk

/

A
I= 51

| a |

— basin

Gold waler

What will happen to the temperature of the milk and the cold water after an hour? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,693

Correctly answered feedback

Incorrectly answered feedback

Question 58

Both the temperature will be at room temperature.

Both the temperature will be at room temperature.

Primary 4 Science » Primary 4 Science (Term 4)

Sharifah made some mik for har baby, However, the milk was too hot and she

decided to put the milk botte into a basin of cold water.

£

millk hottle

hiot milk

——— basin

Gold wialer

What can Sharifah add to the cold water if she wants to cool down the milk faster? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay
Date Added: Sun 11th Jul 2021

0 pts
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Last Modified: N/A
QID#: 28,388,696

Correctly answered feedback
She can put ice cubes into the cold water.

Incorrectly answered feedback
She can put ice cubes into the cold water.

Qu estion 59 Primary 4 Science » Primary 4 Science (Term 4)

\ir Eng poursd hotl water into a cup of instant noodies and kept it covered for five
minutes. The cup is mada of maleral X, When he removed the lid, he obsened

that tha noodies had sofiened and the soup was &l hot.

= T

To cook the noodles faster, should material X be a good or poor conductor of heat? Why? (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,703

Correctly answered feedback

Material X should be a poor conductor of heat as it helps to slow down heat loss to the surrounding,
keeping the noodles warm.

Incorrectly answered feedback

Material X should be a poor conductor of heat as it helps to slow down heat loss to the surrounding,
keeping the noodles warm.

Qu estion 60 Primary 4 Science » Primary 4 Science (Term 4)
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lér Eng poursd hot water inlo a cup of instant noodies and kept it covered for five
minutes. The cup is mada of maleral X, When he removed the lid, he obsened

that tha noodies had sofiensd and tha soup was sEEl hot,

1]—-Ea

noodl a5

~———— material X

What property of material should material X have so that the soup will not leak out from the cup? (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,708

Correctly answered feedback
Material X needs to be waterproof.

Incorrectly answered feedback

Material X needs to be waterproof.

lér Eng poursd hot water inlo a cup of instant noodies and kept it covered for five
minutes. The cup is mada of material X, When he removed tha lid, he obsened

that tha noodies had sofiened and the soup was SEE hot,

ﬁ—ﬁa

nood] &5

~———— material X

Explain how the lid covering the cup helped the noodles to be cooked faster. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,714

Correctly answered feedback
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Qu estion 61 Primary 4 Science » Primary 4 Science (Term 4)
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So the lid can conduct heat from the noodles to the surroundings at the slowest rate.

Incorrectly answered feedback
So the lid can conduct heat from the noodles to the surroundings at the slowest rate.

Question 62 Primary 4 Science » Primary 4 Science (Term 4)

lér Eng poursd hot water inlo a cup of instant noodies and kept it covered for five
minutes. The cup is made of material X, When he removed tha lid, he obsered

that tha noodies had sofiened and tha soup was sEill hot,

Why did the chopsticks become het after a while? (1m)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,721

Correctly answered feedback
Because chopsticks gain heat from the noodles.

Incorrectly answered feedback
Because chopsticks gain heat from the noodles.

Question 63 Primary 4 Science » Primary 4 Science (Term 4)
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dia Wan placed a magnet inte a boo of pins: When she lified up the magnet, sha
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Correctly answered feedback
The magnetic strength is the strongest at the poles.

Incorrectly answered feedback
The magnetic strength is the strongest at the poles.

Question 64

Based on her observation, what can she conclude about the magnetic strength of the magnet? (1

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Jia Wan placed a magnet inta a bow of pins: Whan she lifed up the magnet, sha
abseraad fhal the pins wers attracted io the magnet as shown balow,
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Jia Wen repeated the experiment by placing the magnet into a box of plastic clips.

She observed that the magnet did not attract the plastic clips. Give a reason for her observation. (1
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 11th Jul 2021
Last Modified: N/A
QID#: 28,388,740

Correctly answered feedback
Because the plastic clips are not a non-magnetic material.

Incorrectly answered feedback
Because the plastic clips are not a non-magnetic material.
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